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B.C.A. 5th Semester ( NEW/ATKT)
Examination-2018 (i)
VISUAL BASIC

Paper—BCA-502
Time : 3 Hours] [Maximum Marks : 85/100
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Note : All questions are compulsory.
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Section—-A
TS o
Objective Type Questions
dic :  qEgfve qHT 1S 797 (1 5% J4F) 115%1=15
Note : QObjective type 15 Questions of | mark each.
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1. HE J9Y & 999 dife-

Choose the correct answer--

(i) —=—-—- & I IEITRT P TS FAE B 0
FramtEmmasd w kg @
W e
(31) About Box (#) Splash Screen

(®) Combo Box (&) T & 3§ T8
RJ-255 (1) Turn Over
RJ-255
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&

is used to tell the user that program is -

loading and starting.

(a) AboutBox (b) Splash Screen
(¢) Combo Box (d) None of these
- 7 Slfsige ARG =W T R
(a1) VB6 (/) VB .Net

(®) C++ (8) Java

Which language is not an object oriented language
?

(a) VB6 (b) VB .Net

(c) C++ (d) Java

[DE & T 99 & :

(37) Integrated Development Environment (@)
Integrated Design Environment

(¥) Interior Development Environment
(%) Interior Design Environment
Full form of IDE 15
(a) Integrated Development Environment (b)
Integrated Design Environment
(c) Interior Development Environment
(d) Interior Design Environment
(2)
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o SFERT O e W Rk S 8 a -
R & ®

(GFI] an event (’q') a method

(9) asetting () aproperty
When the user clicks a button, 1s
triggered :

(a) anevent

hitp://www.onlinebu.com

(b) amethod

(c) asetung (d) aproperty

Visual Basic ¥ SoiFe BEd F extension 3T 8 :
(@) fm (@) .vbp

(|) .cls (&) b

In Visual Basic, is the extension
1o represent the project file.

(a) .frm (b) .vbp

(¢) .cls (d) .vb

Prt § & F9-§ Visual Studio IDE # J&4

FHE T @

(1) H‘i?gw TEFRIRAI

@ w

(®) ﬁ*&

(@) feomaeR =t
(3)

Turn Over
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Which is not a main component of the Visual Studio
IDE ?

(a) Solution Explorer

(b) Tool Box

(c) Start menu

(d) Designer Window

e St e &Y fewiee wroet @ & ?
(o1) Text (9) Enable

(d) Multiline (%) Password

The default property for a text box control is _.

(a) Text (b) Enable

(c) Multiline (d) Password

Ffedt F Gio IR g # afear @

(a1) 2AfFT (7) mmlem

(1) Refi (@) 78 & #3 7d
____isthe process of finding and removing errors.
(a) Checking (b) Compiling

(c) Debugging (d) None of these
MDI # :

(31) Multiple Document Interpreter
(¥) Multiple Document Interface
(¥) Multi Document Interval
@ e & @ @

(4)
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(i)
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MDI stands for:

(a) Multiple Document Interpreter
(b) Multiple Document Interface
(¢) Multi Document Interval

(d) Noneofthese

fr=1 ¥ #9-81 DDL ®eie ? ¢

(e1) Ppue @) sm

(7) o=x (3) T & 91§ 78
Which of the following is/are the DDL
statements ?

(@) Create (b) Drop

(c) Alter (d) None ofthese
SQL # $13v¢ BRM ----- T et HLE 8 -
(31) Values (¥) Distinct Values
(§) Groups (3) Columns

Count function is SQL returns the number of:

(a) ¥t (b) Reftee dwg
() N (d) e

o A ﬁruwsﬁﬂﬁﬁmﬂ@%%,ﬁﬁ%
;’g;ﬁmaﬂﬂﬁﬁéfﬁﬁqﬂ”oinmﬁ

(#) equijoin (%) natural join
{FI) outer join (ET) g | BIs T
(5) Turn Over
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What type of join is needed when you wish to
include rows that do not have matching values ?

(a) equijoin (b) natural join
(c) outerjoin (d) Allofabove
SQL & T 1w 2 :

(31) Simple Query Language
()  Structured Query L.anguage
(d) Structured Query List

@ @ § AR

Full form of SQL is:

(a) Simple Query Language
(b) Structured Query Language
(c) Structured Query List

.(d) Noneofthese

SQL views & IYTT - H Bym & fa
T e 2

(1) Columns and Rows only
) Complicate SQL syntax only

(@
(w) 2 (%) & (3)
(5) @ & 9 =

(6)
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e Tl P B 5 997 (5 o q0E) 1
Note : Short answer type 5 questions of 5 marks each.
5x5=25"
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SQL views can be used to hide :
(a) Columnsand Rowsonly
(b) Complicate SQL syntax only
(¢) Both(a)&(b)
(d) Noneofthese
(xv) freffaa § & H-91 SQL constraint & 2 :

(o7) wEwd (@ v

(§) s)e@e &t () T A

Which of the following is not type of SQL
constraint ?

 (b) ForeignKey
(d) UniqueKey

(a) PrimaryKey
(c) Altemate Key
quEi—4
Section-B
WY I I
Short Answer Type Questions
5x5=25

Event driver & 379 &1 G931 & ?
What do you understand by event driver ?
HYd[ sor :
VB ¥ Picture Box 37 Image Control # X aarga
AT I B A i)

Turn Over
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Write difference between picture box and image control
in VB and also write their functions.

_ Input Box I 337819 Gied GHARET |

Explain Input Box with examples.
HY][ /or
Higra & feoreft ifen
(31) Splash Screen
(@) AnAbout Box
Write short note on:
(@) SplashScreen http://www.onlinebu.com
(b) AnAbout Box

Data Bound Control & @i # G931ET |

Write short note on Data Bound Control.
Hdlsor

Visual Basic & error handling #! & #1 |

Explain error handling in Visual Basic.

SQL Components & A9 307 aviF &

Name and describe the components of SQL.
HYdT ror

st 29 a1 8 7 e aftq ausRy )

What is Dropping Tables ? Explain with example.

See 9th Pg.

http://www.onlincbu.com

WO NgIuIue-smmm,:dny



WO NGIUIuo* saam//sdpy

6.

hitp://www.onlincbu.com

= TR W ST T TG & ¢ IaRA |lRd avERt |

What do you mean by sct operation ? Explain with

example.
Hdl sor
synonyms ¥ & ?
What is synonyms ?
qus—d
Section-C
e Il 5

Long Answer Type Questions

Az : O FTOT FFT D 5 097 (9 7% GAF) 1 9%5=45

Note : Long answer type § questions of 9 marks cach.

7. fymfeiad e dfira § fafeg
(a7) arodfer fa=st
(a) wd &-omee Fd
(@) e B
(z) o T &=
Write short note on following:
(a) Properties window
(b) Form layout window
(¢) Code Window
(d) Project Explorer Window
RJ-255 (9)
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HAY][ sor
2TET <Y 4T & 7 ISR & 9y §HEmsl |
What is data types ? Explain with example.

§. e E? Ay a3 AAE A R

What is menu ? Write the process of creating menu.
HIGl yor
ql ?-I'E?-FHEI\’ ’\]_:”TTEF{EF # I VB Code fAfga |

Write a VB code for multiplication of two matrix.

9. P I ¥ R gHR @ el @ R |

BREIESS

Explain various types of files in Visual Basic in detail.
AT sor

g ¢ 7 ¢ ¢ Ra@E de ol Reeex #4431 Jed

Fewrg i |

What is Record Set ? Discuss finding and filtering record

set.

10. Select ®ed & fafy= @t @I fy<ag afed auamEU|

Explain many faces of select statements with syntax.

HYdl s0r
fep=iffEad Oracle Function &1 3aT6<eT Afed TR
(1) AVGQ (@ MINO
(@) COUNT() (@) MAX0
(@) POWER() (k) LTRIM()
RJ-255 (10)
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(@ TOCHAR() (8 TO.DATE(
(d) TO.NUMBER
Explain the following oracle function with example:

(a) AVG() (b)  MIN()
(¢) COUNT() (d) MAX(
() POWER() )  LTRIM()

(g9 TOCHAR() () TO.DATE()
) TO.NUMBER

11. SOz 47 @ 7 gas R gl &t e @ anane
What is join ? Explain its various types in detail.
HIdl ror
= 37 dea 4 & 7 AR |
Whal is views and sequences 7 Explain.
http://www.onlinebu.com
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